
 

 

 

 

 

,Ugbf; Nfhitfspd; fhuzpfs; 

 ml;rufzpj Nfhitfspd; fhuzpfs; 
cjhuzk;  : 

i. 3x + 6 = 3(x+2) 

ii. 4a2 + 12a = 4a(a+3) 

iii. n2 + 3mn + 4n + 12m = n(n+3m) + 4(n+3m) 

= (n+3m) (n+4) 

iv. a(2p-q) + b(q-2p)  = a(2p-q) - b(2p-q) 

= (2p-q) (a-b) 
 

1. gpd;tUk; ml;rufzpjNfhitfs; xt;nthd;wpdJk; fhuzpfis NtWgLj;Jf. 

i. (a) 5a+10 = …………………………..………………. (b) x2 – x = ………………………………….. 

(c) 3p2q – 6p = …………………………..………..... (d) 2a – 4a2 =………………………………. 

(e) x2y – xy  = ……………………………..………….  

(f) 5a2 – 10ab – 5b2 =……………..……………..... 

    …………………………… 

(g) 2a2b – 6a2b2 + 4ab2 =……….....…………….. 

    …………………………… 

(h) x2yz + xy2z – xyz2 =……………..…………….. 

    …………………………… 

ii.  (a) p(m+n) + q(m+n) = …………………………..……………….  

(b) a(2x+y) - b(2x+y) = …………………………..………………. 

(c) 3(x-2) – xy + 2y = …………………………..………………. 

        .............................................................  

(d) 4a + 8 + b(a+2) = …………………………..………………. 

        ............................................................. 

(e) p2 – pq + 3p – 3q = …………………………..………………. 

        ............................................................. 
 

2. fPNo jug;gl;Ls;s Nfhitfspd; fhuzpfis NtWgLj;Jf. 

i. a(p-q) - b(q-p) = a(p-q) + b(p-q) 

= (p-q) (a+b)  

ii. n(2m-n) - p(n-2m) = ............................................................. 

   ............................................................. 

iii. 2a(x-2y) + 3b(2y-x) = ............................................................. 

   ............................................................. 

iv. 4p(a+2b) - q(2b+a) = ............................................................. 

   ............................................................. 

v. x(2b+d) - y(-2b-d) = ............................................................. 

   ............................................................. 

  nrayl;il 
kd;/ Gdpj md;id jpNurh Nwh.f.j.f. ghlrhiy 

juk; : 10          Mrpupau;; : jpU.k.ePgd; 



    

 %TWg;G ,Ugbf;Nfhitfspd; fhuzpfs; 
cjhuzk;  : 
 

i. x2 + 5x + 6 = x2 + 3x + 2x + 6      +6 × x2 

= x(x+3) + 2(x+3)       +6x2 

= (x+3) (x+2)       (+3x) (+2x) 

 

ii. x2 - 7x + 6 = x2 – 6x - 1x + 6      +6 × x2 

= x(x-6) - 1(x-6)       +6x2 

= (x-6) (x-1)       (-6x) (-1x) 

 

iii. x2 + x - 6 = x2 + 3x - 2x – 6      -6 × x2 

= x(x+3) - 2(x+3)       -6x2 

= (x+3) (x-2)       (+3x) (-2x) 
 

iv. x2 - 5x - 6 = x2 – 6x + 1x – 6      -6 × x2 

= x(x-6) + 1(x-6)       -6x2 

= (x-6) (x+1)       (-6x) (+1x) 
 
 

(01)  gpd;tUk; %TWg;G ,Ugbf;Nfhitfs; xt;nthd;wpdJk; fhuzpfis NtWgLj;Jf. 
 

i.  a2 + 9a + 8 = .........................................       ii.  x2 + 7x + 6 = ......................................... 

= .........................................          = ......................................... 

= .........................................          = ......................................... 

 

iii. n2 – 7n + 10 = .........................................       iv.  m2 – 9m + 14 = ......................................... 

= .........................................          = ......................................... 

= .........................................          = ......................................... 

 

 v.       p2 + 7p - 18 = .........................................       vi.  x2 + x - 12 = ......................................... 

= .........................................          = ......................................... 

= .........................................          = ......................................... 

 

vii.       a2 – 5a - 6 = .........................................       viii.  n2 – 6n - 7 = ......................................... 

= .........................................          = ......................................... 

= .........................................          = ......................................... 

 

ix.        y2 – 4y - 5 = .........................................       x. m2 – 6m  - 40 = ......................................... 

= .........................................          = ......................................... 

= .........................................          = ......................................... 

 

xi.       p2 – 8p + 15 = .........................................       xii.  y2 + 12y + 35 = ......................................... 

= .........................................          = ......................................... 

= .........................................          = ......................................... 

  



(02)  %TWg;G ,Ugbf;Nfhitfspd; fhuzpfs; (NkYk;) 

(i) x2 + 7xy + 10y2  = x2 + 5xy + 2xy + 10y2     +10y2 × x2 

= x(x+5y) + 2y(x+5y)     +10y2 x2 

= (x+5y) (x+2y)     (+5xy) (+2xy) 
 

(ii) m2 + 6mn + 8n2 = ..............................................   (iii) p2 - 9pq + 18q2 = .......................................... 

= ..............................................          = .......................................... 

= ..............................................          = .......................................... 

 

(iv) p2 – 8pq + 15p2 = ..............................................   (v) m2 – 6mn – 40n2 = .......................................... 

= ..............................................          = .......................................... 

= ..............................................          = .......................................... 

 

(vi) a2 – 4ab – 5b2 = ..............................................   (vii) x2 +12xy + 32y2 = .......................................... 

= ..............................................          = .......................................... 

= ..............................................          = .......................................... 

 
 

(03)  %TWg;G ,Ugbf;Nfhitfspd; fhuzpfs; (NkYk;) 

 (i) 3a2 + 4a + 1  = 3a2 + 3a + 1a + 1     +1 × 3a2 

= 3a(a+1) + 1(a+1)     +3a2 

= (a+1) (3a+1)     (+3a) (+1a) 

 

(ii) 5a2 + 7a + 2 = ..............................................   (iii) 4x2 - x - 3 = .......................................... 

= ..............................................          = .......................................... 

= ..............................................          = .......................................... 

 

(iv) 2x2 + 3x - 5 = ..............................................   (v) 6x2 + 3x – 3 = .......................................... 

= ..............................................          = .......................................... 

= ..............................................          = .......................................... 

 

(vi)2m2 + 7mn – 6n2 = ..............................................  (vii)10m2–17mn+3n2= ......................................... 

= ..............................................          = .......................................... 

= ..............................................          = .......................................... 

 

(viii)6a2 + 7ab – 5b2 = ..............................................  (ix) 4x2 –10xy – 6y2 = ......................................... 

= ..............................................          = .......................................... 

= ..............................................          = .......................................... 

 

 ,U tu;f;fq;fspy; tpj;jpahrk; %yk; fhuzpg;gLj;jy;. 

(a+b) (a-b) = a(a-b) + b(a-b) 

  = a2 - ab + ab – b2 

  = a2 – b2 

MfNt  a2 – b2 = (a+b) (a-b) 
cjhuzk;  : 

i. x2 – 9  = x2 – 32 

= (x+3) (x-3) 

 



ii. 16 - a2   = 42 – a2 

= (4+a) (4-a) 

iii. m2n2 - 1 = (mn)2 – 12 

= (mn+1) (mn-1) 

iv. 9a2 - 16 = (3a)2 – 42 

= (3a+4) (3a-4) 

v. 3p2 – 27q2 = 3(p2 – 9q2) 

= 3(p2 – (3q)2) 

= 3 (p+3q) (p- 3q) 

 
(01) gpd;tUk; mlrufzpj Nfhitfs; xt;nthd;iwAk; fhuzpfshf NtWgLj;Jf. 

(i) n2 – 4 = ...............................................  (ii) a2 – 81 = ............................................... 

  = ...............................................    = ............................................... 

(iii) 100 – x2 = ...............................................  (iv)25a2 – 16b2= ............................................... 

  = ...............................................    = ............................................... 

(v) 16a2 – 1 = ...............................................  (vi) x2y2 – 9 = ............................................... 

  = ...............................................    = ............................................... 

(vii) 12x2 – 3 = ...............................................  (viii) 9a2 – 16 = ............................................... 

  = ...............................................    = ............................................... 

(ix) 144 – 4x2 = ...............................................  (x) 9x2y2 – 1 = ............................................... 

  = ...............................................    = ............................................... 

 

 ,U tu;f;fq;fspy; tpj;jpahrj;jpd; fhuzpfs; (NkYk;) 
cjhuzk;  : 

i. (x+2)2 – y2 = ((x+2) + y) ((x+2) - y) 

= (x+2+y) (x+2-y) 

ii. (x+2)2 – (x+3)2 = ((x-2) + (x+3)) ((x-2) - (x+3)) 

= (x -2 + x +3) (x -2 – x -3) 

= (2x+1) (-5) 

= -5 (2x+1) 

(01)  fhuzpfis NtWgLj;Jf. 

(i)  (a+1)2 – 9     (ii)  (2x+1)2– 16  

 .......................................................     ....................................................... 

  .......................................................     ....................................................... 

(iii) (2p+1)2 – p2     (iv)  (2p+3)2– 9q2  

 .......................................................     ....................................................... 

  .......................................................     ....................................................... 

(v)  100 - (y-4)2      (vi)  (m+2)2– (m+3)2  

 .......................................................     ....................................................... 

  .......................................................     ....................................................... 

(vii) (a-1)2 – (a-5)2     (vii)  (y+6)2 – (y-2)2  

 .......................................................     ....................................................... 

  .......................................................     ....................................................... 

 


